NANYANG PRIMARY SCHOOL

MID-YEAR EXAMINATION
2022

PRIMARY 4

MATHEMATICS
(BOOKLET A)

Total Duration for Booklets A and B: 1 hour 45 minutes

Addltional matena[s Optical Answer Sheet (OAS)

INSTRUCTIONS TO PUPILS

1. Do not turn over this page until you are told to de so.
2. Follow alf instructions caréfully.
3. Answer all questions.

4. Shade your answers in the Optical Answer Sheet (OAS) provided.
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Questions 1 to 15 carry 2 marks each. For.each question, four optioins are
given. One of them is the comect answer. Make your choice {1, 2,
- and shade your answer on the Optical Answer Sheet. .

or 4)

{30 marks)

50
500

5000

1
i

In 71 563, what does the digit 5 stand for?

Eighteen thousand and twenty-four

Eighteen thousand, two hundred and four |

Eighteen thousand, two hundred and forty \

Eighteen thousand, two hundred and fourteen

2. Write 18 204 in'words.
M
2)
(3)
(4)

3.
number.

60 135
greatest

1) 60053 ,
(2) 60 053 ,
(3) 65053 |
(4) 650583 ,

60 153
60135 , 60153
60153 , 60135
60053 , 60135
60153, 60135

2

¥

Arrange the following numbers in order. Begin with the greatest

60 053 65 053

smallest
65 053
65 053 |
60 153

60 053
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4.

Round 3652 to the nearest hundred.

(1
2
3
(4)

4000

3700

3650

3600

Which one of the following is not a factor of 647

(1
2)
@)
(4)

What is the missing fraction in the box?

(1)

()

3)

4

>
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. 1
Which of the following fractions is less than > ?

m 2
@ 2
e
@ =

3
Which of the following improper fractions is equivalent to 55?

m 2
@ Z
@ 2
@ =
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9.

What fraction of the toys are toy cars?

Toy Planes
Toy Cars
Toy Boats
M
@
O
@ 2 ‘
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10.  Infigure ABCDE, which angle is equal to 45°?

9

(1) - ZBAE
(2) ZAED
(3) «ABC
4y «BCD

|
- 1%, . -Ahmad 2ams $5398 a month. He spends $1806.each month and-.-. .
saves the remaining money. How much money does he save after half

ayear?

(1) $27 552
(2) $21552
(3) $4592
(4) $3592
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12.

Look at the figure below. ABD, GFE, BF, CF and DE are straight lines.

In

o’

Name the line that is parallel to line CF.

M

@)-

(3)
(4)

AD

BF .

DE
GE
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13.  A-soccer match started at 6'p.m. as shown in the clock below. }

14.

The soccer match ended at 7.15 p.m. that evening. How many nght
angles will the minute hand make by the end of the game?

(1)
)
(3)
(4)

Abigail and Elyse were playing with 7 number cards as shown beloﬁ:v.

Abigail started by using 4 different number cards to form a 4- dvglﬁ odd
number. Elyse then used the remaining cards to form a 3- -digit even

1

2

3
5

L

L]

number. Each number card was only used once.

What is the greatest dtfference between the two numbers that the girls

formed?

(1) 7232
(2) 7285
(3) 7529
(4) 7531
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15.

Jean, Kate, Lindy and Mark each wore a different coloured T-shirt: red,
orange, blue and black. Lindy did not wear red or orange. Jean liked
Mark’s blue T-shirt. Kate did not have a red T-shit.. What was the

colour of the T-shirt that Jean wear?

(1)
(2)
(3)
#

Red
Blue
Black

Orange

More papers available at www.testpapersfree.com

BP~296



NANYANG PRIARY SCHOOL

MID-YEAR EXAMINATION
2022

PRIMARY 4

MATHEMATICS
(BOOKLET B)

Total Duration for Booklets A and B: 1 hour 45 minu

ifes

INSTRUCTIONS TO PUPILS -

Do not turn over this page until you are told to do so.
Follow all instructions carefully.

Answer all guestions.

Write your answers in this bookist.

BN~

Name: S e i ) :

Class: Primary 4 ( )

" Parent’s Signature:

Booklet A

Booklet B

/70

Total

/100

Please sign and return the examination paper the next day. A

should be raised at the same time when returning paper.

\ny queries
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Questions 16 to-35 carry 2 marks each. Show-your working clearly and Mrite
your answers in the spaces provided. For questions which require units, give
your answers in the units stated. {40 marks)

16.  List all the common factors of 54 and 81.

Ans:

L

17. Which of the 2 numbers are not multiples of 97

27 54 38 81 75

Ans: and ‘
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18. . (a) Find Zr.

Ans: o

(b) Draw a line WX that is perpendicular to line AB.
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18.  Using a protractor and a ruler, draw £ ABC = 67°.- Mark and laﬁel the
angle. The line AB has been drawn for you. j

]

. : : .3
20. Mei Ling is facing the Police Station at first. She makes a Z turn -

anti-clockwise. Where is Mei Ling facing in the end?

' Foad
Shopping Centre Police
Mait \ Station
Basketbal \ : -
e L .
Court Mel Ling Playground

N
.

|

Station Library Hospita
Ans:
3
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21 Samy is facing north at.first and he turns to face the Clock Tower.
What angle has Samy turned through in the clockwis_e direction?

Garden Bookshop Exercise
Corner
Music Samy Computer
Room Room
N
Art Room Dance Clock ‘T‘
Room Tower
Ans: °

22. Complete the number patterns.

(8) 32475, 32485, 32495, , 32515, 32525
(b) , 91205, 93 205, 95205, 97 205
Ans: (a)
(b)

23. Jane can pack ali the cookies into boxes of 6 cookies or boxes of 8
cookies, without having any remaining cookies. What is the smallest
possible number of cookies Jane can have?

Ans:
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24. A refrigerator cost $1695 more than a television set. Mr Lim would
have $367 left when he chose to buy the television set. How much

more money would Mr Lim need when he chose to buy the refngerator
instead?

Ans: $

25. A machine can produce 1960 boxes in 8 hours. How many boxes ¢an
12 such machines produce in 1 hour?

L

Ans: _~

26. There are 2070 children in a school. There are 5 times as many b¢ys
as girls. How many girls are there in the school?

Ans:
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3
Eason had 56 cards at first. He gave away = of his cards. How many

27.
cards did he have left?,
Ans:
3 o1
28.  Packet A contains 5 kg of beans. Packet B contains P kg more
beans than Packet A. What is the total mass of beans in Packet A and
Packet B? Express your answer as a mixed number in its simplest
form.
L
we e CANSI - kg
. . . 1
29. Maya cut a whole cake into 12 equal slices. Her friends ate 3 of the

cake and her cousins ate 5 slices of the cake. What fraction of the

cake was eaten?

Ans:
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3 1 ‘
30. There was 5 £ of water in a pail at first. Xiao Tong poured - 8 of water

mto the pail. How much water is there in the pail now? ‘ s

Ans: ¢

7 1
31.  Elsatook 10 h to drive from her house fo the zoo. She took 5 h less

to drive back home from the zoo. What was the total amount of time
she took to drive from her house to the zoo and drive back home? |

Express your answer as an improper fraction in its simplest form.

Ans: I h

1 1
32. A bag of potatoes has a mass of > kg. The bag of potatoes is 2 kg

lighter than a bag of apples. What is the total mass of 2 such
bags of apples? |

Ans: ‘ kg
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33. A book cost $28 mare than a pencil case. Marilyn paid a total of $527
for 5 such books and 4 such pencil cases. How much money did each

pencil case cost? -

Ans:$

34. Mother gave Ariel, Brenda and Chong Ming some marbles. Ariel
1 : 3
received 5 of the marbles, Brenda received P of the. marbles and
Chong Ming received the remaining 35 !_n'ar_ble.S. How many marbles .

did Mother give to the 3 of them in total?

Ans:
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2 |
35.  There was a fotal of 160 green beads and red beads. After 3 of th¢

green beads and 12 red beads were removed, there was an eqpal

number of green beads and red beads left. How many red beads wére
there left? i

Ans:
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For questions 36 to 43, show your working clearly and write your answers in
the spaces provided. The number of marks available is shown in brackets [ ]

at the end of each guestion or part-question. (30 marks)

36.

Thavanesh had 450 chocolates. He gave 172 chocolates 1o his friends.
He packed all the remaining chocolates into bags of 8 and kept the
leftovers for himself. How many chocolates did Thavanesh keep far

himself?

Ans: [31

37.

Mrs Quah bought more than 20 but fewer than 50 pencils for her
students. When she gives each student 8 pencils, she will be short of 2
pencils. When she gives each student 9 pencils, she will need 8 more
pencils. How many pencils did Mrs Quah buy?

Ans: [3]

10
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38

1 |
Rebecca had a piece of ribbon. She used 3 of theribbonto tiea

1
present and = of the ribbon decorate a dress.

(a)

(b)

What fraction of the piece of ribbon was used to tie the present
and to decorate the dress? '

She used 240
ribbon at first?

cm of ribbon in total. How long was the piece of

Ans: (a) _ [?}
(b) 2

11
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3
39. Aredpoleis5mlong. itis 10 m fonger than a blue pole.

(a) What is the length of the blue pole?

(b) What is the total length of the red pole and blue pole?

Ans: (a) {2

(b) (2]

12
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40.  Mel's home, the bank, the. supermarket, the: shiopping centre an&‘ the

playground are located as shown in the square grid below.

(a) In which direction is the playground from Mel's home?
(b) in which direction is the bank from the supermarket?
() Which place is north.of the bank?

(d) Alibrary will be built in the neighbourhood. The following
sentences describe the location of the library.

I. Mel's home is north-west of the library.
fi. The fibrary is south of the shopping centre.

‘Mark X’ on the grid above to show the location of the fibrary.

Ans: (a)

Playground]
éhqpplng
Ceritre
Mel's home . N
Pupermarkq ]
Bank

(b)

()

[

[
g
[

13
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41.

Amiya and Ben had the same number of stickers at first. Ben used
3600 stickers. In the end, Amiya had 4 times as many stickers as Ben.

(a) How many stickers did Amiya have at first?

(b) How many stickers must Amiya give to Ben so that both of them
would have the same number of stickers again?

Ans: (a) . ' [2
(b) f21

14
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42.  Amanda uses grey tiles and white tiles to form figures that follow a
pattern. The first four figures are shown below.

[}

NN

Figure 1 Figure 2 Figuré 3 Figure 4

(8) What is the total number of grey tiles and white tiles Amanda
would use for Figure 87

(b) How many white tiles would she use for Figure 367

Ans: (a) 1[2]

(b) 2

15
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43.

2 1
Wendy spent 3 of her money on a bag, 3 of her money on a pair of
shoes and saved the rest. The amount of money she saved was $100

less than the total amount of money she spent.

(a) What fraction of her money did Wendy spend?

(b) Wendy gave half of her savings to her sister. How much money
did Wendy give to her sister?

Ans: (a) [2]

(b) (2

End of Paper

16
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18,
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Focters of 54 0 (1,2, 6,8, 18, @ 54

rs af p:. !u@~@»@~ Eu 31

e 1335 9, 27

17

Which of tha ¥ numbars ceo not mulliples of 87

Ang:

24.

A rofilgerator cost $1005 mare han o lolovislon aot, N Lim vauld
hove 3387 loh whon hn choso 1o buy (he tuieviclon aot. How much
moto monty woukd ke Line nod when ha chasn i buy tho reitigstator

_._m_anaq

$1695 ~ £367 < #1328 ()

Anat S, 1328

18, {u) And &r.

{b) Oraw & lino WX that 13 pacpgndicutar i flna AB.

27, Eaaon had 56 corde stfiral Ho gave awady m of hlo curds. Mow many
cnrds dig ha hove fol(?
& . Wm::&lll.w Tunifs = 56

[7] way=ses1 <8

20,

A maching con produns 10D boxac In 8 hours, How many boxos can
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1960 %z 2as
245 K12 2 2940 ()

An3; 2940
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an gitls, Hew oy

o P L

duaibk 297056

Gus || =495 (o)

Gavtoney woiks = 8ah =32 (A
s 3%
2B, Patket A conloins w p of bagns, PRkt B contoing m kg morg

. buans.ihon-Packet A. Wnal s the alal macs of boans In Packal A and
Pockot @7 Expross your ciawer 03 ¢ mizgd_pumber In llg gimplagt

form. . a .
fakat & SFly T E Y
, e
Pusteat 8> BhatE by o )

v nvvlw v 5 hd MvNo
S =14 Taw)
%
A 49 kg

. 1
20, Moya cul a whle coke into 12 enwat sllcos, Hor freride ota H olme
cuko and her coustns e § 840 of the ceko, What tracion of tha

coka wae oatan?

causing att S slicas 3 -
e e’

[T T T TTTTT]

T\ll‘!ll’\lv
Furends alt 3 o theakt

azh wtRBow 4

18, Using a prolragtor and o nuior, draw LABC = 67°. Mark and fobol the
ongla. Tho lina AB hus baon drawn for you
<

18

3
20, MolLing fo taeing the Polico Stalion 81 ikel. Sho mokas @ i wen

anllclockwisy, Whoro & i) Ling facag i tho oad?

Food
Snopplp [~ Gonue -y Faltew

Bagselball
Court el Ling Prayprouny

zqr. o -
brocy

Stallon ul

tosplial

ez

. w108 g fal

1
30, Toonaweo ¢ of dudor 1na pad at Ut Ko Tong poures Lo wator
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* a
k=R

" Beoke
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e s e

2 Eh

4
Totol Hiawe 5 0 h ik ‘.

P N R —

e e

>
o0aD
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38 2543 tau)
' 4527

ane3, A3
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